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Question Number : 1 Question Id : 8801792209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

If the drive speed of a CD-EOM is (1), its transfer rate is 1.228 Mbps, and access time is 400 ms, then the
transfer rate and access tirme for 18 CD-ROM is;

Options:

1.9 21,8343 Mbps and 90 ms
2. % 147456 Mbps and 100 ms
% % 12288 Mbps and 100 ms

4. % 24 576 Mbps and 90 ms

Question Number : 1 Question Id : 8801792209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Tig CO-ROM 1 ST5a Tid (1) &, 77 56T ST et 1.228 Mbps &, & UF6q 909 400 ms &, 71 5ed1a90 o 3 Uaad
AT 183 CD-ROM & g fraar &7

Options:

1. % 21 8342 Mbps 3T 90 ms
2. % 147456 Mbps T 100 ms
3. ® 12 288 Mbps 3 100 ms
4, % 24 576 Mbps T 90 ms

Question Number : 2 Question Id : 8801792210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Hard disks and diskettes are:

Options:

1. % direct access storage devices

2 % sequential access storage devices
3. % rarely used microcomputers

4. # indirect access Storage devices

Question Number : 2 Question Id : 8801792210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T2 TEww o Evde Far gy

Options:

1. & ETeT UFHd T2 [SaEd (direct access storage devices)

2. % TEgATiare UwET T [2aed (sequential access storage devices)
3. ® Vool gES Wigk e (rarely used rmicrocoriputers)

4, ¥ TASTINTE T T2 ZaEd (indirect access storage devices)

Question Number : 3 Question Id : 8801792211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Wwhat is the responsibility of the logical unit in the CPU of a computer?

Options:
1. % Comparing numbers

2. % Storing data



2. % Controlling flow of information

4. % Controlling flow of data

Question Number : 3 Question Id : 8801792211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TR o CPU T Fidher SerTe il T TG 27
Options:

1. & HEAT P FAAT FEAT

o % FeTEUET wOT

3. % T o naTE W T

4, ¥ Zere vEg @ e wer

Question Number : 4 Question Id : 8801792212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Many cornputers give a post oot beep Tostly single beepd on boot-up. What does this indicate?

Options:

1. % Evervthing is ok
2. % DRAM failure

3. ® EBIOS ROM failure
4. ® ProCessor issue

Question Number : 4 Question Id : 8801792212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T R g- AT O U U ¢ o7 (SATGT [T s & 81 25 &7 §1Tq @ 87
Options:

1 VY qagrims

2. % DRAM % [aGaar

3. % BIOS ROM TEreear

4 % yiEe & gear

Question Number : 5 Question Id : 8801792213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Wwhich of the following is a 25-pin fermale connector having D-shape available on back of the computer?

Options:

1. % Serial port
2. ¥ Parallel port
3. % P52 port
4. ® VGA port

Question Number : 5 Question Id : 8801792213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TETeET # 9 ® Ar 25-T09 Bie F-wet ¢ e e o 0 - (D-Shape) I0d=9 37
Options:

1. ¥ Hifge o
2 W TEa O



S ®opoiour
4 % yoa T

Question Number : 6 Question Id : 8801792214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Ir1 a Docurnent, how to iNSsert a Corrnent’?

Options:

1.9 ALT + CTRL + M
2 % AIT +CTEL + N
3 % ALT +CTRL + 5
4 % ALT + M

Question Number : 6 Question Id : 8801792214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TEATAA H, T R 3 =T

Options:

1.9 ALT + CTRL + M
2. % ALT +CTEL + N
3 % AT + CTRL + 5

4 ® AlT +M

Question Number : 7 Question Id : 8801792215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
what are the two types of output devices?

Options:

1. ¥ Monitor and printer

2. % sStorage disks (floppy, CDv

% % Keyboard and mouse

4. % windows 2000 and Windows NT

Question Number : 7 Question Id : 8801792215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
ATITYE TZaT5d & Sf W -l 57
Options:

1. & ATy K Wew

o % yiEE e (AT, CD)

3. % HEE oY A

4. % windows 2000 3 Windows NT

Question Number : 8 Question Id : 8801792216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
& memory card reader 15 a dewvice used for comrmunication with a

Options:
1. ® magnetic chip

2. % virtual memory



2. * wyirtual card

4. ¥ memory card

Question Number : 8 Question Id : 8801792216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
HANT T2 TS UF IO & e Jui

Options:

1. % sadt By @i B
2. % oy Tic (ST HHI
3 % Tl T2 (T wE)
4. T A (AT L)

o HT T & T TR AT 8

Question Number : 9 Question Id : 8801792217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
______ card readers are used in physical security Systerrs.
Options:

1. % Access control

Z. % Confidentiality

3. % Integrity

4. % Virtual

Question Number : 9 Question Id : 8801792217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
F1E Tzt e geam womiert # Fuei ey = A

Options:

1. ¥ qFET A

2. % TOHEET (@b ATaTwe )
3. % aREEqr LT

4 % gefar

Question Number : 10 Question Id : 8801792218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

For some digital cameras cormnmunicating through cellular networks, the most popular standard of
COTTIIUNICation 1s:

Options:

1. ¥ MMS service

= % instant messaging
2. #® modular messaging

4. % cellular messaging

Question Number : 10 Question Id : 8801792218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Ao, Hedeh & ATeTH § T B dTcf o 18 e FA o [0, TR T Tad dAf@ i AT 47 57

Options:
1. ¥ MMS T

2 % FrowETer g



3. % Hl=gee @
4. % GFeAT Goad

Question Number : 11 Question Id : 8801792219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
When vou copy and paste M5 Excel data into a M5 Word docurment,

Options:
1. % vou will be able to edit data using M5 Word editing features

2. % you will still be able to use M5 Excel menus and toolbars to edit the data
3. % it automatically gets updated when data into M5 Excel changes

4. % g hyperlink is automatically created

Question Number : 11 Question Id : 8801792219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
e AT M5 Exccel 22T @1 MS Word Sedie | @ &Y 0ee #ed 5 ar:

Options:

1.p\'f’ T WS Word #T HOTE Gieremst T I &% 207 GuTiad Fed § 9507 gid 3

2. % o0 sEd TG W ST P G P o o7 MS Excel @ B 3T IO U2 T & JUAMT T § F5H 51d 2
3. % MS Excel # 227 & 9o OC 22T &7 Todliog &0 & ST 51 147 2l

4. ¥ UF gEW AT Cied ®F & & J4T 8

Question Number : 12 Question Id : 8801792220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ATl application that let users find the detailed information about their files, folders and drives is known as

Options:

1. ® windows Media Player
2. ¥ Windows Explorer

Z. % Paint

4. % windows Easy Transfer

Question Number : 12 Question Id : 8801792220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
______ T LT TICEha 5, S JUA MR a1 1 Il BT5e, Biest 1 215 & a1 § Toeqd Sl 5a - & argAfd gar 3]

Options:

1. ® T2 gtz waw
2. ¥ THe FaanT
3 % dr

4 R Tdi gl gam

Question Number : 13 Question Id : 8801792221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

which of the following features is used to count the number of pages, words, characters, paragraphs and lines
in a M5 word docurnent?

Options:
1. ¥ Crientation



= % Page Count
3. ¥ word Count
4. % Margin

Question Number : 13 Question Id : 8801792221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
M5 Word =eara # ust, seal, avl, fenme v mrE=t & e & e e & e e d & e d S w1 v e 9T ae

Options:

1. % arffeamy (e
2. % OF T (0 FE)

3. ¥ aeg 0T (I HTIE)
4. % grfian @R

Question Number : 14 Question Id : 8801792222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The intersection of a row and a colurmn is calleda "______
Options:

1. % Table

= ¥ Cell

3. % Data

4 % Sheet

Question Number : 14 Question Id : 8801792222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

T ity & U T o STy # ' HET AT &l
Options:

1. % Tae

2 ¢ oF

3% 2T

4 % dig

Question Number : 15 Question Id : 8801792223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
what will be the output for the function [SMNADx1) in OpenCffice Calc?

Options:
1. ¥ TRUE
= ¥ FALSE
3. % MNULL
4 %0

Question Number : 15 Question Id : 8801792223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

OpenOffice Calc #ISMNA(D X 1) HFa & W7 smaeye F47 17
Options:

1. ® 709 (TRUE)



= & Ao (FALSE)

3. % Fw ET (MULL)
4 % 0

Question Number : 16 Question Id : 8801792224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What i5 a Pixel?

Options:

1. % Colour

2. % Screen length

= ¥ A dot on the computer screen

4. % Font type

Question Number : 16 Question Id : 8801792224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TeFE T B7

Options:

1. % 4

2. ® ThiE oA

3. ¥ PRI T T U WalEie)
4. ¥ Blciaw

Question Number : 17 Question Id : 8801792225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
DLL files stand for:

Options:

1. ¥ Double Link Library
2. % Dwynarmic Link Library
Z. % Double Link List

4. % Dwnarmic Link List

Question Number : 17 Question Id : 8801792225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

DLL WTEe % T T8 &7 27

Options:

1. % Double Link Library (Zad TH@ A58

2. % Dwynamic Link Library (S=THF H@ Amgsn
3. % Double Link List (o fd@ we)

4. % Dwynamic Link List (Sr-THE Fw fwe

Question Number : 18 Question Id : 8801792226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
How to change the icon of a Desktop folder in Windows 107

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.
Options:



1. right click > properties > General > folder option

2. right click > properties > General > folder Fictures
2. right click > properties > custormize > folder option
4. right click > properties > General > advanced

Question Number : 18 Question Id : 8801792226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
wWindows 10 H 2tH1T Blest o SSH F1 56 d20d 57

Note: For this question, discrepancy isfound in question/answer. Full Marks is being awarded to all
candidates.

Options:

1. 15T Toemm > Ui > T > Wieet dded

2 1T foemm > WOer > e > Hieet =g

2. TTe ool > WOEi > TeeHE > Biest idwed

4 1T fFemm > UIei > e > TEdies

Question Number : 19 Question Id : 8801792227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
While describing GUI, each type of file is represented by a:

Options:

1. ¥ picture
2. % prograrr
2. % button

4. % menu

Question Number : 19 Question Id : 8801792227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
GUI T i T TR, Wl HeTE Bl BIEc 1 Tehear ST Sariar AT 87

Options:

1. v ==

2 % gmm
ERR-TE

4 % @

Question Number : 20 Question Id : 8801792228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What SMPS stands for?

Options:

1. % Simple Mode Power Supply
2. ¥ Switched Mode Power Supply
2. % Service Mode Power Supply
4. % Single Mode Power Supply

Question Number : 20 Question Id : 8801792228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
SMPS T T = 47 87

Options:



1. ¥ Simple Mode Power Supply (&0 HIE Gl @tAT:)
2. ¥ Switched Mode Power Supply (o= Aig 0Ty GraTe)
Z. % Service Mode Power Supply (ATSd AIE Hle ATHATE)
4. % single Mode Power Supply (FTE A1E Ulat 9raTe)

Question Number : 21 Question Id : 8801792229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Testing helps to:

Options:

1. ¥ measure quality
2. % improve quality
3. % fix defect

4. % decrease quality

Question Number : 21 Question Id : 8801792229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
AT AT ___ H AT FaT 8l

Options:
1. T[OTeRTT WO

2. % T gur
3 ® g Etw wd
4 % TUTERT T FA

Question Number : 22 Question Id : 8801792230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Alpha testing is done at:

Options:

1. # the users end

2. ¥ the developers end

3. % poth, the users and the developers end
4. % the third party end

Question Number : 22 Question Id : 8801792230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
ST UETgoT Tefeer g Temerr <At 27
Options:

1. % JuanTedT g

2. ¢ Zaaud grT

Z ® Uil o 2aeTd, ST ERT

4 % AUy EeT

Question Number : 23 Question Id : 8801792231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Svntax checking is a:

Options:



1. ¥ staterment coverage technigque
2. % structural testing technique
% *® code coverage technique

4. ¥ functional testing technique

Question Number : 23 Question Id : 8801792231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

AT TE ______ TE I B
Options:

1. % gz FaiT

2. ® HeATCHE (Foate) T
3. % FIE T

4. ¥ FaicHe (Gapsme) Ty

Question Number : 24 Question Id : 8801792232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Suggest an alternative for requirement traceakbility matrix.

Options:

1. # Error discovery rate
2. % Test effectiveness

%, ¥ Test coverage matrix

4. % iverage defect aging

Question Number : 24 Question Id : 8801792232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ATFITFAT ¢ Taiete ! Aigerd & foly o T g2
Options:

1. % gRramay

2. % gTiy @ TaTE T

3. & gl wads Afgwd

4 % g P QT 5 @ T

Question Number : 25 Question Id : 8801792233 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Eig bang approach is related to:

Options:

1. # retesting

2. ¢ integration testing
% ® regression testing

4. % inter systermn testing

Question Number : 25 Question Id : 8801792233 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Term s g ______ TS # Hel e 2l

Options:



1. % g

o, & T
3. % gigmea
4. % ST O

Question Number : 26 Question Id : 8801792234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Toast Disc [mage has file format.

Options:
1. % iso

2 % toast
=% 30

4 * tiso

Question Number : 26 Question Id : 8801792234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Tiee 12%@ A (Toast Disc Image) &1 EEd BIHe 347 51T 57

Options:

1. % iso
2. ¥ toast
3. % tso

4 % fi=o

Question Number : 27 Question Id : 8801792235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The extension HST refers to

Options:

1. ® image file

= ¥ history file
3. % audio file

4. % compressed archive file

Question Number : 27 Question Id : 8801792235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
H5T BTed i &1 Iuai eafaas # & i wea & oy T smar g

Options:

1. % 9 BTEe

2. V¥ TeET wred

z ¥ Tz wEd

4, % FERE ATHIET BIEA

Question Number : 28 Question Id : 8801792236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
what WAN stands for?

Options:



1. ¥ Wireless Area Network
o % Wired Area Network
3. ¥ Wide Area Network

4. % World Area Network

Question Number : 28 Question Id : 8801792236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
VWA T U7 & AT 7

Options:

1. % e giear Jead (Wireless Arsa MNetwork)
2 % g Ui deadr (Wired Area MNetwork)

3. ¢ gEE U Hea (Wide Area Network)

4 % geE giwar degd (World Area MNetwork)

Question Number : 29 Question Id : 8801792237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Fort 20 represents Erotocol.

Options:
1. % FTP - data

= #® FTP - control
3. ¥ SNMP
4 % HTTF

Question Number : 29 Question Id : 8801792237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T80 ______ TIT I BT ZaTaT 21
Options:

1. % FTP-ZaT

2 ® FTP-To=mmm

3 % SNMP

4. ¥ HTTP

Question Number : 30 Question Id : 8801792238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Wwhat is the identifier that has numeric identity of a device on a network or evern a computer?

Options:

1. % Port

2. ¥ P Address

3. ¥ Computer name

4, % OF product key

Question Number : 30 Question Id : 8801792238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
IE W AT AEE RTa & T Toredt Seadh o o5t 9 i sy w Tt feames &1 deaenw ugae g T a7

Options:



1. % g

2 ¥ PUEg

3. % FegeT wT AW
4 % OF Feurg g

Question Number : 31 Question Id : 8801792239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which option is displayed first in bullet library of M5 Word 20167

Options:
1. ¥ INone

» w Circle (o)

s % Disc(e)

4 Square ( | )

Question Number : 31 Question Id : 8801792239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS Word 2016 T Joie AISsi H ® I AT Tekhey Ugel Waidd = 7T g7

Options:

1. i g
o X m(o)

Question Number : 32 Question Id : 8801792240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
where does 3 header appear in a docurnent?

Options:

1. ¥ At the top of every page

2. # At the bottormn of every page
3. % Cnly on the first page

4. # Cnly on the last page

Question Number : 32 Question Id : 8801792240 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ST H RS AT T AT gy
Options:

1. ucder Ug o g 0w

>y yE i S



3 % Fad WH IE
4, % Fad AEATE T

Question Number : 33 Question Id : 8801792241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
what is the key combination to go to the previous field in M5 Word?

Options:

1. # SHIFT + Fa
= % SHIFT + F11
3. ® SHIFT + F10
4 % SHIFT + F12

Question Number : 33 Question Id : 8801792241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
M3 Word # T hive # ST & W0 gt a7 57

Options:

1. % SHIFT + Fa
2. % SHIFT + F11
3. % SHIFT + F10

4. % SHIFT + Fl2

Question Number : 34 Question Id : 8801792242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Drop cap function is available in which tab of MS Word 20037

Options:

1. #* Insert

= % Format
3. % Layout

4. % View

Question Number : 34 Question Id : 8801792242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
ET &7 B M5 Word 2003 & 5 39§ Iudeer 37

Options:

1. % zod
2 ¥ BT
3. ¥ wamaT

4 % o

Question Number : 35 Question Id : 8801792243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Wwhat is the margin of a page when a normal option is selected for top and bottorn while printing a docurmnent
in M5 Word 20107

Options:
1. % 254 cm, 2.540m

2 % 1cm, Scm



= #% Som Scom
4 % 1cm 1.25cm

Question Number : 35 Question Id : 8801792243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

M5 Word 2010 H U SE T &1 U Fid THT U TIATT U8 & 0% 3% S & 600 S Teeed @7 =le @d 0 08 &7
AT T 51T &7

Options:

1. ¢ 2 54 #HeiHy, 2.54 "Ry
o % 1 gimtey, & "o

3. % ©Himey, S "

4, % 1 gimtey, 1.25 dEmEe

Question Number : 36 Question Id : 8801792244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

If “Automatically add words to list checkbox’ is selected, the unwanted corrections that yvou undo are added to
the list of under AutoCorrect tab.

Options:

1. ¥ exceptions
2. % words

3. ® phrases

4. % templates

Question Number : 36 Question Id : 8801792244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Il FeTeg &0 8, el | s=af &1 A2, =F ad 94914 &, 97 Ened [ECE I ToraT 8, 9% affeigiae o & 3T
& T | A T S ) o w

Options:

1. amare
2 % g

3. % FTereTar
4 % ndem

Question Number : 37 Question Id : 8801792245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Seetu suddenly realised that she has been typing with caps lock tumed on and as a vesult the text is displaved in the

balowr manner.
“] HATE THE cAPS IOCK KEY!™

To make the above text in a proper wav, which of the following cases Seetu has to choose?
Options:

1. ¥ Lowercase

2. % Capitalize Each Word

% % Sentence case

4 ¥ tOGGLE cASE



Question Number : 37 Question Id : 8801792245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
WMWﬁmgmﬁﬁmmWMmﬁmrﬁ%mﬁmmmﬁr
HER Ews dA R

i HATE THE cAPS IQCK KEY!"

ITEFS 918 F 3RE T @ aE F B iy # A9 e o Teed & # B Foa gaen §2
Options:

1. ¥ e

2. % Tl e W AST HAT (AT 5 98)

2 ¥ g de ¥

4. & TIA &

Question Number : 38 Question Id : 8801792246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In a new worksheet, cell 41 contains value 7 and cell &4 contains value 9. If the formula = COUNTAL - A4)is
entered in cell B1, the following result will be displaved in cell E1:

Options:
1. % g
o WD
3 % 4
4 ¥ g

Question Number : 38 Question Id : 8801792246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

U AL addie H AT AL H7 diNEF A4 # O M B A SFB1 # = COUNT(AL:A4), 71 P ufiomm 7 B1 # Far neifdfa
TerT AT

Options:

1. % g

2 ¥z

3 % 4

4 % g

Question Number : 39 Question Id : 8801792247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

which cormmand will vou use in MS PowerPoint if vou need to change the colour of different objects WITHOUT
changing the content?

Options:

1. # Design wizard
2. % Colour Scherne
= % Font Colour

4 # palette

Question Number : 39 Question Id : 8801792247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



afe MS PowerFPoint H Tduereeg @1 qitaid g [y s s g silesrgd & 07 age gi af 770 19 FHTS BT W= #7
Options:

1. ® Z9ET T

2. ¥ Tl T

3. % BT FoT

4 % e

Question Number : 40 Question Id : 8801792248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
which new feature in MS PowerPoint 2007 has the ability to animate an object to move along a path?

Options:

1. % Motion paths

= % MNarration

3. % Customs slide shows

4. % Transitiorn

Question Number : 40 Question Id : 8801792248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
M5 PowerPoint 2007 @1 Targ =it gicra | Tt sffesiore 1 et oor o8 =@ &1 g0a7 57

Options:

1. & gl e

o % o

3. ® gEor vAEe AT

4, % AT

Question Number : 41 Question Id : 8801792249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
which of the following events is in the right order to ‘format a chart Legend’ in MS Excel?

Options:

1. ¥ Click Font > Right click legerid
= ¥ Right click legend > Click Font
3. % Left click legend > Click Font

4. % Click Font > Left click legend

Question Number : 41 Question Id : 8801792249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

RS O & % A7 veA, MS Excel B = @i & war F dae | g v H g7
Options:

1. ® mivz OF Toemen ot > g18 oI oiig faorm

2 ¥ T AN oEE [Ford > Wiee UF Taerr @

2. ® o1 AR wg et > Biee uY o e

4 ® miee o e # > 91 9N e e

Question Number : 42 Question Id : 8801792250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



which of the following events is in the right order to export excel charts as PDF in M5 Excel?
Options:

1. ®# Create chart > select chart » Copy > Paste

2. % Create chart = select chart > Copy > Paste Special

3. % Create chart > select Data » Save As FDF

4 % Create chart > select chart > Save As PDF

Question Number : 42 Question Id : 8801792250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

TrgferiaT & & @19 9 g MS Excel H Excel @ @ HIETE (PDF) & &0 # foiidd oo & Gaa § a5 dH 7 87
Options:

1. % o &I =T > IR @1 o4 > ®T > U

2. % G H AT > TR F T > O > U T
3. % g H AT > S w0 O > WS UEPDF) F 9 H w5
4, & R FI AT > TR B =49 > UEUEPDE) F &7 9=

Question Number : 43 Question Id : 8801792251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The average dowrnload speed of DSL is up to

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to al
candidates.

Options:

1. 250 Mbps

2. 100 Mbps

3. 25 Mbps

4. 75 Mbps

Question Number : 43 Question Id : 8801792251 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
DL & aftead ETaadis T TF o

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.

Options:

1. 250 Mbps

2 100 Mbps

3. 25 Mbps

4. 75 Mbps

Question Number : 44 Question Id : 8801792252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If vour budget is limited, then vou may want to take an advantage of a

Options:
1. % dial-up

> % satallite

connection for the internet.

3. # fiber optic service
4 % DSL



Question Number : 44 Question Id : 8801792252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
fes TR e SIHd &, ar & ______ Tl T SaTie &1 A TH wieT TR

Options:

1. & ZTA-am

2. % qurg (@)

3. % mrge sTEw Hal
4. % DSL

Question Number : 45 Question Id : 8801792253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following internet services offer easy access to information present on the internet?

Options:

1. ¥ Inforrmation retrieval services
2. % Web services

3. % world Wide Web

4. # Communication Services

Question Number : 45 Question Id : 8801792253 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
AT H & I 1 Seee 9T Set-e I Hieg AR a AT Ugd Ha Hid] 57

Options:

1. & ST gAmie Hamd
2. % dgHam

3 % g dEsdd

4, ¥ HEW gam

Question Number : 46 Question Id : 8801792254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

which of the following types of internet services allow exchange of information between applications orl the
wel?

Options:

1. * Inforrmation retrieval services
2. ¥ Web services

2. % World Wide Web

4. # Comrmunication Services

Question Number : 46 Question Id : 8801792254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TrafeiaT o & T W i ST T T U F & ofe UT S o ol S 3 SEH-Ha T T giere uie gt 87

Options:

1. % FHo=T qAuie &ar
o o g Ham

% % grE aEs

4, ¥ HW #§GaT



Question Number : 47 Question Id : 8801792255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Mo mmatter whers vou are in the world, 15 able to reach wou,

Options:

1. # fiber optic service
z ¥ zatellite

3. % ADSL

4 % cable broadband

Question Number : 47 Question Id : 8801792255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TEH BIS Tk 51 NS d T o ST g H @ g, ______ ST T Ug=i- H @aH 3
Options:

1. % mEey wTe® 9ar
2. ¥ Iy (HeEEe)

3. % ADSL
4. % Fee disds

Question Number : 48 Question Id : 8801792256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Wwhich of the following internet cormmunication services offers real time chat between individuals and group of
people? (e 2. Yahoo messenger, MSN messenger etc.)

Options:

1. % Telnet

2 ® VolP

2. # Mailing lists

4 ¥ Instant messaging

Question Number : 48 Question Id : 8801792256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
______ Ted-T T Gl el oI AT @ GHE o o e e e A ST e (O SISH <ie) T e W weat gl (e

Yahoo messenger, MSMN messenger §.)
Options:

1. % ¥e

= % VoIP

3. ® AfET gt

4. & FowTe T Tarj iy

Question Number : 49 Question Id : 8801792257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
______ mode of COI‘leI‘EI]CiI‘lg COnrects more than two locations through Multi-point Control Unit (WO,

Options:

1. % Point-to-Point
Z % Share-Point
3. % Two-Point

4. % Multi-Foint



Question Number : 49 Question Id : 8801792257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TI-Hh G T ______ TLIRT At I-UTee Hale I QICU) & ATedw € 21 & 21w ®r=1 &1 A1SaT )

Options:

1. % ﬁjg-?]’: W—g—‘ﬁéﬂ
2. % g g (dae-uTED)
3. % T Tag ()

4. ¢ Fg-Tog (weT-uTge)

Question Number : 50 Question Id : 8801792258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The process of transforming URL to assign importance to web pages is done by:

Options:

1. % browsers

= ¥ zearch engines
3. # servers

4. % rlients

Question Number : 50 Question Id : 8801792258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

o U1 & Aged 2 & @0 URL & Iga- & 0ieear
Options:

1. ® graad
2. ¥ o 5Fave
z % mEd
4. ¥ FAEg

=

Question Number : 51 Question Id : 8801792259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Developrment of was initiated by Tin Berners-Lee at CERM in the year 1339

Options:
1. ¥ TCP|IP

2. % SMTP
3. ¥ HTTP
4. ® IPVE

Question Number : 51 Question Id : 8801792259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
e 1989 § CERN # feq s-d-+#1 grT

Options:
1. % TCF | IF

2. % SMTP
3. ¥ HTTFP
4. % [PVE



Question Number : 52 Question Id : 8801792260 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

With ______ rmail service, ¥ou can select the email dormain name that will suit wou best from over 200 domain
IAarmes . 2. yourname@consultant. Corr, yournane&journalist. Corml, yourtans @ernginesr. Corml,
yoUrname @lawyer cor, an, the default one is yourname@mail.corm.

Options:

1. # gmail.com
2. % mail.com

2. % putlook. com

4. % zoho.com

Question Number : 52 Question Id : 8801792260 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
______ HeT & & |, T 200 & aifiw SHT AW w0 B G996 S5 @ aie SHE S A A B 990 B g gl o

%Oumame@consmtant.com, FOUTTIAne @ journalist Corl, vourname@enginesr corml, yourname@lawyer com
BIre yOourname@mEil.com 5o

Options:

1. # gmail com
2. % mail.com

2. % putlook.com

4. % zoho.com

READING COMPREHEMSION

Section Id : 880179222

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 880179222
Question Shuffling Allowed : Yes

Question Id : 8801792261 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Question Numbers: (53 to 57)
Cestion Label | Comprehiension



Fead the passage given below and answer the questions:

“Traditional arts and crafts have been the cldest industry in India. They are part of India’s culture and
identity. That is something which will stay with us forever.” It was this sentiment that inspired Medhavi
Gandhi to work for the welfare of India’s craftspeople.

Medhawi was just 24 years old when she started working on a UNESCO docurmentation project For that she
had to interact with warious artisans and craftsmen from South Asia. [t was at this time that she realised how
little she knew about the rich culture of India, her own country.

She also realised that the middlemen were selling the products at very high prices but the profit never reached
the artisans. Later they started selling duplicate iterns at even higher prices. The artisans were 50 dernoralisedd
that they stopped nnovating.

If this trend continued not only would it spell death for the craft industry but would also seriously impact our
ecororny, specially at the base level. 50 in 2009, she set up the Happy Hands Foundation”

Happv Hands has helped artisans reach a wider market and has re-introduced traditional crafts armnong young
people through innovative, handcrafted games, jewelry and other collectibles. It has also empowered
craftsmen to explore and innovate. Gandhi organises workshops for the artisans where she gives them a
concept which the artisan later translates into artwork as per his creativity. This builds their confidence too.

Gandhi works in villages where she sensitises artisans to rrarket trends 1o enable therm to develop their
product accordingly. The artisans are also taught how 10 respect personal strengths and wealknesses by
respecting variations in style of the same craft. Hands works with artisans from different states of India. They
work on pottery, crochet, cherial art, pithora art, worli, rmadhubani, bamboo craft, Gond art, doll craft etc. The
products are sold through exhibats or through their outlets.

Gandhi feels people should try to keep their ancient arts and crafts alive. Also through art they will be
connecting with many lives. An artisan’s income will impact the future of his children, and health of his family.

Sub questions

Question Number : 53 Question Id : 8801792262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following statements is the ODD one out?

Options:

1. ¢ Gandhi dictates latest market trends with the artists.

2. % Gandhi promotes artisan’'s work through exhibitions.

2. % Gandhi discusses a concept and then lets the artist innovate.

4. % Gandhi organises confidence building workshops for artisans.

Question Number : 54 Question Id : 8801792263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following is a threat to art and artisans?

Options:

1. % Profiteering by middlermen
2. % Innovative creations

3. % NGOs like Happy Hands

4 % MNo dermnand

Question Number : 55 Question Id : 8801792264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Wwhat does Gandhi do to prevent the age old art from dying?

Options:
1. * She gives instructions to artisans to work out new product design.

2. % Sheis aware of the basic survival needs of the farmilies of artisans.



2. % She exposes artisans to new trends and helps thern diversify their range.

4. % She arranges exhibitions and sale cutlets abroad to ensure artisan’s livelihood.

Question Number : 56 Question Id : 8801792265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In the sentence, ‘If the trend continued at the base level’ which trend 15 being discussad?

Options:

1. * Motivation to innovate

2. % Lack of funds to procure material
2. % Flooding of market with duplicates
4 Lack of market for handicrafts

Question Number : 57 Question Id : 8801792266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Happy Hands does NOT:

Options:

1. * conduct any skill training workshop for villagers

2. ® organise workshops in order to discuss concepts and trends

2. % introduce new forms in art like jewellery, garmes, collectibles etc.

4. % frv to create a wider market for the handorafted iterms

Question Id : 8801792261 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 53 Question Id : 8801792262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:
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Question Number : 54 Question Id : 8801792263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Tl A IR & oy T # g @ | ma ge

Options:

1.  Te=iferat gy g
o ® e =g

3. % Fuft Boa O Tt
4. % g i 5t

Question Number : 55 Question Id : 8801792264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T Tl 1 Gl 5 & T o Tory mieft e et 27

Options:

1. % 7g Jeume & f2=TE- o 1o et &1 e 24T 81
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Question Number : 56 Question Id : 8801792265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
1. % Fefietemor g o Tong o

=, % gumit|ie o o AT & e
5 ¥ Zrdtde ¥ AT AT B AT
4, & TEFlaed & T AT S T

Question Number : 57 Question Id : 8801792266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Section Id : 880179223

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 880179223
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 8801792267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Study the given information carefully and answer the question that follows:

AT urm contains & red, 4 blue, 2 green and 3 vellow marbles.

If two marbles are picked at random, what is the probability that both are red?
Options:
1

1. % 6

Ul | b

t
#
i |~

] | b

Question Number : 58 Question Id : 8801792267 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
1

], ® B
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Question Number : 59 Question Id : 8801792268 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Four-seventh of a nurmber is equal to 40% of another number. What is the ratio between the first number and
the second number, respectively?

Options:
1. R 5:4

Question Number : 59 Question Id : 8801792268 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

e AT BT 4 7 ST AT et §E AT & 40% W Se 51 URe ! §edT S Gl €A & i B S a9 g7
Options:

1. =% 5:4

Question Number : 60 Question Id : 8801792269 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In the following questions two equations numberad I and IT are given. You have to solve both the equations and select

the correct OPILGLL.

Options:
1. #Ifxey

2 ¥ifxzy
3R Ifu<y
4 #fx=vy



Question Number : 60 Question Id : 8801792269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ferfafs weat & | 3 1| 97 2 Feretor BT v §)| amoer ot wEEET F 5 e e At
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. x*—878=453
. y*—82 =39

Options:

1% afgx > v
YAy
3 % AEx <y
4 % Fqizu=v

Question Number : 61 Question Id : 8801792270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In a primary school the average weight of male students is £5.9 kg and the average weight of fermale students
iz 57 kg If the average weight of all the students (both male and fernale) is 60,2 kg and the number of male
students in the school is §8, what is the number of fermale students in the school?

Options:

1. % 154
2 % 162
3. % 1E6R8

4 ¥ 112

Question Number : 61 Question Id : 8801792270 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T WA e | o1t @ ST 9 65,9 Tra iy o aranett F7 T AR 57 A 31 It et Eeniiat (7 o g
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Options:

1. % 154
=z ® 162
3. % 168
4 ¥ 112

Question Number : 62 Question Id : 8801792271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
The radms of a cylinder is 5 m more than its height. If the curved surface area of the cylinder is 792 m?, What is the
volume of the cvlinder? {in m)
Options:
1. % 5712

2. % 5244
3. ¥ 5544
4. % 5308



Question Number : 62 Question Id : 8801792271 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T = 1 [3=dT Se ! o=lle & 5 Hiet ST g1 Aie s &1 a5 U8 496 792 a1 H12t & a1 oo &1 8- (9= Al 7 747 57
Options:

1. % 5712

2. % 5244

3. % 5544

4 % 5306

Question Number : 63 Question Id : 8801792272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The speed of the boat in still water is S times that of the current. It takes 1.1 hours to row to point B from point

A dowmstrearn The distance between point & and point B is 132 km. How much distance {in k) will it cover
in 212 minutes upstrearm?

Options:
1. % 432
2. % 48
2 ¥ 416
4 % 447

Question Number : 63 Question Id : 8801792272 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
1. % 432
2. % 48
2 ¥ 416
4 % 448
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Question Number : 64 Question Id : 8801792273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Use the following series of elements {letter-mumber-symbol) to answer this guestion. Every two-digit number {given in

brackers) is to be treared as single number.
2*ESABOSQIELITRDA4 £ T K (130A (14 P

1T each of the leters in the above series of elements is given a value equivalent to s senal number in the Englizh

alphabet, what will be the difference between the sum of the consonants and the sum of the vowels used in the series?

Options:
1. % 27
2 ¥ 41
3 % g2
4. % 109

Question Number : 64 Question Id : 8801792273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
1. % 27
o v 41
3 % g2
4 % 109

Question Number : 65 Question Id : 8801792274 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

which of the following words will come second if all of therm are arranged alphabetically as in a dictionary™?
Options:

1. ¥ Niche

2. ® Nickname

3. % Nicene

4 % Plickel

Question Number : 65 Question Id : 8801792274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
el T8 ares! @ U Aecm e & STET SR n § SeTedrd T AT §, 91 gHE ST U i |7 g ST

Options:

1. ¥ Dliche

2. % Nickname
Z. % HNicene



4 # Mickel

Question Number : 66 Question Id : 8801792275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

which of the following will come second if all of them are arranged alphabetically as in a dictionary”?
Options:

1. ®* Relieve

2. * Ringlet
2. ¥ Rightful
4. % Rigour

Question Number : 66 Question Id : 8801792275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

<Al T4 =t T U AegeR 1 3 ST AU H H S e T ST g, 91 G T U R A g ST
Options:

1. % Relieve

2. % Ringlet
2. ¢ Rightful
4 % Rigour

Question Number : 67 Question Id : 8801792276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Arrange the given words in the sequence i which they ocour in the dictionary and then choose the correct
SEQUETCE.

1 Freach

2. Praise

= Precinct

4. Precept

S Precede
Options:
1.¥2 1,5 4, 2
2. % 21,3465
3% 1,25 43

4 % 251,453

Question Number : 67 Question Id : 8801792276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
T T Aeg! &1 36 @A H cId2T o aH o Segmia H g 7 o T gt @9 @7 2o &g 5l

1. Preach
2. Praise
3. Precinct
4. Precept
5. Precede

Options:

1.2 1,5 4,3
2. % 21,3 4,5
=% 1,25 4 2



4 % 251,453

Question Number : 68 Question Id : 8801792277 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The question consist of two words each that have a certain relationship to each other, followed by four lettered
pairs of words. Select the lettered pair that has the same relationship as the criginal pair of words.

Iodine : Goiter

Options:

1. ¥ Insulin : Diabetes

2. % Mango : Anerria

2. % Hormones : Hermophilia
4. % Fat: Obesity

Question Number : 68 Question Id : 8801792277 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. goferT: wE

2 % e T

3. ® g gHITheRT

4. ¥ ggr: "lemr

Question Number : 69 Question Id : 8801792278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Select the option that is related to the third number in the same way as the second number is related to the
first nurmber.

4258072 ______
Options:
1. % 81
2 ¥ a0
2% 92

4 % 100

Question Number : 69 Question Id : 8801792278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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4256727

Options:

1. % 81

2. ¥ 30
3% 42
4. % 100
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Section Marks: 6

Display Number Panel: Yes
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Question Number : 70 Question Id : 8801792279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
India became a member of the United MNations in the eI

Options:

1.9 1945
2 % 1947
3. % 1949
4 % 1950

Question Number : 70 Question Id : 8801792279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
AT Th TTE FT Food Tl
Options:

1.9 1945

Z % 1947

3. % 1943

4. % 1950

Question Number : 71 Question Id : 8801792280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Softwood forests are mostly found in the:

Options:

1. ¥ Himalayan region
2. % MNilgiris

3. % Sunderban

4. % Western Ghats

Question Number : 71 Question Id : 8801792280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Options:

1 R i
2 % Jaimer

z % gaiad

4 % gt g

Question Number : 72 Question Id : 8801792281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Consider the following pairs:

(Protected Area) (Well known for)
1. Bhitarkanika. = Salt Water Crocodile
Orissa
2. Desert National |= Great Indian Bustard

Park, Rajasthan

3. Eravikulam. = Hootak Gibbon
Kerala

Which of the pair(s) given above is / are correct?

Options:

1. % Cnly 1

2. ¥ Only 1and 2
3 % Only 2and 3
4 % 1 2and =

Question Number : 72 Question Id : 8801792281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. % a1

2 ¥ aa 1 w2

3 % Fga 2 v s

4 ® 1 23wz

Question Number : 73 Question Id : 8801792282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The practice of selling goods in a foreign country at a price below their dornestic selling price is called:

Options:

1. * diplormacy

2. ® discrimination
2. ¥ durmping

4. % double pricing

Question Number : 73 Question Id : 8801792282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. % g

2 % o

3. =i

4 % zZad g e

Question Number : 74 Question Id : 8801792283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

At present as per government rulings, the masxirmnum area allowed for a Special Econormic Zone (SEZ) in India is:
Options:

1. % 2000 hectares



2. % 3000 hectares
2. % 4000 hectares
4 % 5000 hectares

Question Number : 74 Question Id : 8801792283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TAHT § TFR & Hadl! o SR, AR # U 6 1w 87 (THs-ie) & o7 srgud sriemad g7 ______ 2l

Options:

1. % 2000 ZFIT
2. % 2000 FFAE
3 % 4000 FFAT
4. ¢ 5000 FFIE

Question Number : 75 Question Id : 8801792284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Who designed (was the architect of) the Central Secretariat in Delhi?

Options:

1. * 3ir Edward Lutyens
2. ¥ Herbert Baker

2. ® Robert Tor Tussel

4 % Antonin Raymond

Question Number : 75 Question Id : 8801792284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
1. % mruzas giead
2, o Tt A
3. % Tiad O i
4 % UIIEE HE
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Question Number : 76 Question Id : 8801792285 Question Type: TYPING TEST Display Question Number : Yes

SUITITIer Carmps are supervised carps conducted to entertain as well a5 equip students with various life skills
such as tearmworl, socializing, decision making, independent and responsible living and more. [t aids the
overall developrnent of a child and children have fun during this process as they get to explore new arenas.
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Question Number : 77 Question Id : 8801792286 Question Type: TYPING TEST Display Question Number : Yes

Selecting an outfit for vour first day at work can be difficult, especially if vou are unsure about what is
considered to be an acceptable attire. While it is certainly necessary to follow any existing dress codes for
professional events, you should also feel comfortable and confident in your clothes. If vou like to cornbine
form and function in your work wear, smart casual attire can be an excellent choice as it combines cornfort
with a professional, trendy appearance. Here is a guide to smart casual attire that will help vou learn more
about this dress option for your next professional venture. Smart casual attire is a professional dress option
that incorporates trendy pieces into an outfit to achieve a clean yet cornfortable, semi-formal appearance.
There are a wide variety of clothing opticns to choose from for smart casual attire including skirts, dresses,
trousers, slacks, sweaters, collared shirts or blouses, and possibly a blazer or a jacket depending on the
occasion. Informal smart casual attire and business casual attire are similar. The main difference is that smart
casual attire may incorporate more trendy, fashionable pieces. They are both a style of clothing that will give
you a professional appearance without wearing suits or other formal professional clothing. Informal smart
casual options right include jeans and t-shirts. & smart casual wardrobe should include versatile clothes that
are comfortable. Ideally, most pieces of clothing can work with one another to form a variety of outfits for
vour professional life. Let us take a closer look at examples of smart casual attire for the workplace. Smart
casual attire for men. & smart casual wardrobe for men is based around a few essential iterns that can be
mixed and rmatched to create a variety of outfits. The ideal smart casual outfit includes a combination of both
formal and inforrmal pieces. Pants. When building your smart casual collection, shopping for paints is a good
place to start. You will need a quality pair of denim jeans to get a classic look that fits into numerous
environments. Shirts. Examples of smart casual shirts include short and long-sleeve button downs and classic
t-shirts. ¥You can also incorporate sweaters which can easily be dressed up and dowrn based on your pants and
shoes. If you feel comfortable with colours and patterns you might also invest in staterment pieces that can be
paired with solid basics. Jackets and blazers. Jackets are a great option to mix up vour outfits, and they look
great in both formal and informal settings. An unstructured, dark blazer can create a srmart, professional look
while also feeling casual. Smart casual attire for wormen. Wornen have many different options when putting
together a smart casual outfit. Pants and skirts. Opt for long skirts or those that hit just below the knee, like
pencil skirts. You rmight also explore interesting skirt fabrics such as denim to pair with basic tops and jackets.
Tops. Nearly any top will work well in a smart casual outfit as long as it is clean and free of holes or wrinkles.
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